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Question 1 

The (Unconstrained) Consensus Demand Plan is calculated with the help of several key figures. 

Which group of key figures give input to this Consensus Demand Plan? 

A. Demand Plan, Marketing and Market Forecast, Sales & Sales Mgr Forecast and Target 

Inventory  

B. Demand Plan, Marketing and Market Forecast, Sales & Sales Mgr Forecast and Finance Plan  

C. Demand Plan, Demand by Location, Sales & Sales Mgr Forecast and Finance Plan  

D. Demand Plan, Marketing and Market Forecast, Actual Inventory and Demand by Location 

Answer B 

 

Question 2 

What is the feature of the weighted average key figure calculation? 

A. The first parameter of the formula acts as a weight. 

B. The numerator's value should include multiplication by the weight.  

C. The numerator of the calculation should be stored. 

D. Attributes can be used in weighted average key figure calculation. 

Answer D 

 

Question 3 

Which of the following are features of lag-based snapshots? 

Note: There are 2 correct answers to this question. 

A. Lag-based snapshots are created in the Configuration app for a fixed time range. 

B. Target key figures for these snapshots are exposed to the user in planning views. 

C. Target key figures for these snapshots must have lag as a root attribute in the base planning 

level. 

D. The number of lag-based snapshots are limited to nine levels. 

Answer B C  

 

 

 

 



 
Question 4 

You are adding a value-based filter to a planning view. 

Which of the following conditions apply? 

Note: There are 2 correct answers to this question. 

A. You can add (or delete) planning objects to a planning view after these filters are applied. 

B. You can only apply one value-based filter per planning view. 

C. The alerts dashboard is not available if a value-based filter is set for the open planning view. 

D. These filters can be used together with attribute totals in the same planning view. 

Answer B C 

 

 

Question 5 

Which Master Data Type has to be used to create a connection between two or more master data 

types that otherwise have no connection to each other? 

A. Compound Master Data Type 

B. Virtual Master Data Type 

C. Reference Master Data Type 

D. Simple Master Data Type 

Answer B 

 


